|

[BFEHK] Smii

(B5)

AN
|

[BEFEA 65kg#k]

. W e
(% *35U)

9 R YFvILOYY
(2 —@8) —

, B ETH
® —&)

14 |—

4 BHF &R
(% =)
[BFEA 75kg#k]

. BK BX
(= RAK)

9 BRE 299
(% %@

, KB BJ
(% RETH)

15 —

. BE 53
(B BAIH)

[BFEAN 90ke#k]

T
(B —8)

ARYSR LF b
(# B

, B SR
(6 BIAT)

8

16 ——

N 1)
(% ZREE

[BFEAN 90kgiE#k]

T &EF)

A TEhe
A LH B 9 17
(8 EEERE)
B ®F Hig 13
(B HIEE)
cC EBR &%
(B X3

@ AxB
® BxC
® AxC



M A

[ZFEA 52kg#k]

10

[ZFEA 63keik]

N L
# *51)

, BB B
(2 —8)
(B RRKH)

11

T (&¥F)

4 A F3E
(7 ¥3')

[ZFEA 63kgiE#k]

’ Hb D{F
(B —8)

12

5 A 3k
(%% BHEmA)




>
p=]
q

i

GilzN e B

KH Ex {1

.

#ZI0 ETX %

R |4

=y

2l ET

B>

[

EH UFvIL vy

=3

Ho|

>t

et

ol
it

m

41

K# Exfi

=

a2 |

HR [

=y

B>

—

Ho|

>t

e

AN
il

m

/1

K4 Exfi

a2 |

HR [

=y

B>

=

Ho|

>t

Y [a[a (e

-
Eiild

m

/)

K# Exfi

1 |

R [

=y

B>

=

Ho|

>t

s faa(3a (e

-
Eiild




BABLHEE

EE
B R K& EZ 4L FiR4 2
65kefk I ETX ) —& 1
65kgik [fEH UFyIILTVY ® —f 3
BF | 75kefk | o ) i 2RI 2
90kg#k 2l ET = —f 4
90kgiB R £F g i hi2tE 3
52kgik =2 56 2] - 2
%7 63kgfk EH YBA ) RS Kk 3
63ke#k TE EE ) —= 1
63kgiBfk| M STF = —F 3
=58
B R K4 53 Ed g FE
65kgi) *
g7 | Z5kefk T N N ] AL 3
90kgik *
90kgiB Rk *
52kgfk *
ZF | 63kgih *
63kgiE ik *
e dbilad
B R Kf 540 Ed g FE
65kefk nHE B £ el 3
65kg#k B ER i =X 3
75keik AE EH ) EMTE 3
B7 75kg#k EE A9 = SEHm 2
90ke#k |AFULZR LT Hb ] =t 3
90kgik 3 & i =EEE o
90kgiB#k BRI ) X3 3
90ke Bk LH ESE £ EEER 2
52kgfk BH XM = 3
%7 63keik FrE e ) X3 2
63keik ITEEES ) X351 3
63kgiBik WA X i M 2
REE
B R K4 EZ {1 £35S FE
65kgfk *
B7 75kg#k *
90kgih B E ] BHEE T 2
90kgiB Rk *
52kgik *
ZF¥ | 63kefk *
%

63k Ak




